
  

 

 
 

1. Complete the grids to work out the calculations.  

54 x 62 =  
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2. Work out 

56 x 28  
 
 
 

 
 
 

 
 
 
 
 
 
 
 
 
 
 

3. You are told that 47 x 93 = 4371  

Write down three more calculations you now know. 
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4. A multi-story car park has 7 floors.  

There are 50 cars on the first floor. 

There are 38 cars on each of the other floors.  

How many cars are in the multi-story car park altogether? 

 
 
 
 
 
 
 
 
 
 
 
 
 

5. Oranges are sold in bags and boxes.  

 A bag contains 5 oranges. 

 A box contains 12 oranges. 

Dana has 74 bags and 39 boxes of oranges. 

She needs 800 oranges.   

Does she have enough?  

 
 
 
 
 
 
 
 
 
 
 
 


